15
27

27 11 17

40,674 H7 | H26
50 7.0 905
4,.267ha 7 | Hog
10,940m H12| H26
40 50 77.0
792ha
H12 | H30




15

27

27 11 17

21

26

591ha
17,000

9,300 3

100ha
1,800

954 3

94ha
1,640

1016 3

H17

H54

H28

H37

0.0

26




15

27

27 11 17

H13 | H32
JR L=2.5km 330
H13 | H32
A=20.3ha
N=306 H13 | H27
2 A=13.9ha 24.8
L=6,860
0T H13 | H41
A=16.6ha
N=133 H8 | H27
A=11.6ha 20.8
L=3,980m
o H8 | H33
251 L=1.7k i
=1L./KMm
W=7.0 12.0)m 38.0
H23 | H29
. H23 | H30
=Z,[KM
W=7.0 120 m 4.0
H23 | H30




15

27

27 11 17

-55
94,800m2 H8 | H24
150m 032
-55  200m
Cans H8 | H28
H18 | H28
1,100m 465
H18 | H32
H8 | H32
951 455
H8 | H32
H21 | H26
( )(-10m) 170m 851

(-10m) 13.6ha

H21

H30




15

27

27 11 17

L=000 s53 | H36
58.8

S53 | H36

3 450 S59 | H28
480

5 750

L=1 100 S59 | H38

L=940m $63 | H27
69.7

L=2 700 63 | H40




15

27

27 11 17

4 090 H3 | H27
89.6

H3 | H30

2,150 H13 | H30
28.4

H13 | H35

S48 | H28
55 4 55.4

234 0 548 | H34

19 25 H8 | H28
19 64.2

27 H8 | H33




15

27

27 11 17

H13 | H27
L=1,200 W=10 12 249

H13 | H32

H12 [ H26
L=1240m W=125 16m 26.6

H12 [ H31




16

27 11 17

2,330m
40m

H2

H22

625.0

202

206




16

27 11 17

1,510m
16m

H5

H22

473




16

27 11 17

499

2.5km
13 25 m

H3

H22

120.5




16

27 11 17

2.7km
6 10 m

H9

H22

1219




16

27 11 17

150m
450m2
255m

90m

B 6x
780m

75m

S62

H22

143




16

27 11 17

1

745
1,920m2

1,920m2
152m

H63

H22

12.2




16

27 11 17

510m
1

37,000m3
6,700m2
14,400m2

H8

H22

15.0




27 11 17

N=4
N=55
N=89
A
4,798m2
N=167
N=278

V=4,300m3

S61

H21

125




27 11 17

N=79
N=4
N=4
N=65
N=181

N=6,500m2

H11l

H22

12.7




